
Séquence de Nombres Linéaires (G)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 800 725 425 350 125Différence commune:2. 861 851 846Différence commune:3. 762 562 462 362 62Différence commune:4. 900 895 890 870Différence commune:5. 765 715 615 515 365 315Différence commune:6. 488 463 413 363 313Différence commune:7. 985 885 785 385 85Différence commune:8. 687 587 287Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (G) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 800 725 650 575 500 425 350 275 200 125Différence commune: -752. 891 886 881 876 871 866 861 856 851 846Différence commune: -53. 962 862 762 662 562 462 362 262 162 62Différence commune: -1004. 905 900 895 890 885 880 875 870 865 860Différence commune: -55. 765 715 665 615 565 515 465 415 365 315Différence commune: -506. 488 463 438 413 388 363 338 313 288 263Différence commune: -257. 985 885 785 685 585 485 385 285 185 85Différence commune: -1008. 737 687 637 587 537 487 437 387 337 287Différence commune: -50Mathslibres.com


